
1.

(a)
In an attempt to improve production,  many companies  are requiring  their  
employees to sign performance contracts. Explain five benefits of performance contracting. 




(10 marks)


      (b)
 Techno Space is planning to introduce division of labour and specialization. Advice the company on five disadvantages of this.

(10 marks)

2.
(a)
Explain five reasons why an increase in the per capita income of a country 
may not indicate an improvement in the standards of living of the citizens.









(10 marks)

b) The following trial balance was extracted from the books of  Tele 

investments as at  31 .12 .2016
	
	DR.
	CR.

	Sales/purchases
	420,000
	980,000

	Discounts
	40,000
	36,000

	Returns
	25,000
	32,000

	Building
	800,000
	

	Cash
	90,000
	

	Bank
	320,000
	

	Salaries
	140,000
	

	Debtors/Creditors
	256,000
	168,000

	Loan
	
	340,000

	Insurance
	86,000
	

	Rent
	
	40,000


Additional Information

(i) Stock at end of period was shs. 54,000

(ii) Salaries accrued end of year was shs. 26,000

(iii) Prepaid insurance by Dec. 31.2016 was shs. 10,000

Required
(i)    Trading, Profit and Loss account

(ii)     Balance sheet            
3.
( a )
BYOB is providing start up capital for youth intending to start a business. 

Explain five factors that Otieno must consider before investing his capital in a retail business.





( 10marks)
(b)
Outline five factors that may cause a producer to reduce his output to the market    






 (10 marks)

4.
(a)
Explain five main  reasons that  contribute to a low tax revenue by the  
government through the Kenya Revenue Authority 
( 10 marks) 


(b)
Explain  five main causes of inflation in a country 

(10 marks)
5.
a)  
Explain five factors that can lead to a monopoly market structure.











(10marks)
b) 
Explain any four business macro- environment factors showing how factor 
affects business   operations. 




(8marks)

6.

(a)
Explain five principles which should be observed in the expenditure of 



Public  funds.






(10 marks)

(b)
The following information relates to  NASA TRADERS  for the year ended 

          

31st December 2016.










            Shs


Total current assets






587,500


Total Fixed assets






720,000


Total current liabilities





  32,500


Total long term liabilities





357,500


Net Profit







  50,000


Capital








625,000


Sales







       1,000,000


Opening stock






  50,000


Closing stock






  
25,000


Margin







      20%


Calculate:

(I) Working capital





(2 marks)

(II) Current ratio






(2 marks)

(III) Mark-up percentage





(2 marks)

(IV) Rate of stock turnover





(2 mks)

(V) Return on capital






(2 mks)
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